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2N =K}
BE: HANE =X B
&2 OSSR MHA JIE &5 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 32,940 37,340 A 4,400
= 32,940
01 At 2t 2l 22,340 28,340 A 6,000
NESIFBANAE S 600,000%12] 600
=2 600
NegAs &L+ 70,000%10¥ x 13l 700
= 700
OIS S X2 EOIT & A+
70,000+ 10X »43| 2,800
= 2,800
1)AHE0IH &&82 70,000%3H x4 3] 840
= 840
NAREES(AZ28) 72¢ 5,000, 000& 5,000
= 5,000
1)2 g 7,000x58 x20 x 12 8,400
= 8,400
Nees s @+ 100, 000+300H 3,000
= 3,000
1A A H = 500,000%23] 1,000
= 1,000
02 =224l 6,600 8,000 A 1,400
NHA3A2 L 2BE 150,000%12& 1,800
= 1,800
NaiEgE=s & JIEtBE = 600,000%23] 1,200
= 1,200
1R, ety 300,000+12& 3,600
= 3,600
03 A2 Z Hl 4,000 1,000 3,000
NEMEA 2ZH 4,000,000%13l 4,000
= 4,000
202 oddl 22,500 25,000 A 2,500
= 22,500
01 = LH o4 1l 22,500 25,000 22,500
NEYAEIE A2 oYl
50,000x5Y 7 12 21,000
= 21,000
NEYNLR2WES NI 250,000%6H x 13| 1,500
= 1,500
301 et a3 166,150 168,070 21,920
= 166, 150
01 A3l EE H =56l = 166,150 168,070 21,920
NEZAEE Ols 22208 X
110,760,000 110,760
= 110,760
NEYAEE Ols A4 T2 X &
55,390,000 55,390




EA: =X
E: HUNS =X B
e OS2 X MHlA Dt &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 55,390
405 XHAHFEIEHI 2,000 0
= 2,000
02 = A 2| 2,000 0
1S A2 2,000,000%13l 2,000
= 2,000
B 5.4 XN 9,834,684 2,132,463
= 2,932,625
Xl 1,300,000
J| 46,900
= 882,832
o=} 2,274,833
= 2,397,494
HAo4E 2X=8 N 1,729,220 1,706,000
= 1,400
Xl 1,300,000
J| 46,900
= 4,800
= 376,120
NEFHAE BHRARYS S 2,800 0
= 1,400
= 1,400
307 QI2t0| & 2,800 0
= 1,400
= 1,400
11T A EXAIEEX 2,800 2,800
NEALAE ZHIAKE 2EXHA 2,800,000& 2,800
= 1,400
= 1,400
Had=2XsH 13,420 AT7,000
201 gBt2A | 5,420 0
01 AP 2t 2| H| 5,420 0
N2g4e 5,420
)BAU SDE YU HALY
70,000 x10H 23| 1,400
2)HAUY NEAY FHLY
70,000 28 23| 3,920
Q) AES &g £42 5,000& *200H 100
308 XX SHAHSOIH 8,000 AT7,000
08 m=sJl&otistE = 8,000 AT7,000
NEAE soe X 1,000,000 *80H 1! 8,000
HAGMEESIHE 29 21,000 21,000
= 4,800
= 16,200
307 2Iz2to| A 16,000 16,000
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Se: AW 2N A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,800
s 11,200
11T MISRASEX 16,000 0 16,000
NEALAEAESIHE 2SN 16,000, 000& 16,000
< 4,800
s 11,200
405 XHobF S HI 5,000 0 5,000
01 At ESFH S 5,000 0 5,000
NELAEALSSIME IR (LHLEE)
5,000,000 5,000
FaEHALE &5 1,625,000 0 1,625,000
Xl 1,300,000
[ia 325,000
401 AIEHI L 20 1,625,000 0 1,625,000
Xl 1,300,000
[ia 325,000
01 A& Bl 1,625,000 0 1,625,000
NEAA 2oy ASA X
1,625,000, 000& 1,625,000
X 1,300,000
s 325,000
stust 449 XF ALY 67,000 0 67,000
J| 46,900
[ia 20,100
307 21201 A 67,000 0 67,000
J| 46,900
s 20,100
11T A SRAEE = 67,000 0 67,000
NN HAEAT AN 67,000, 000& 67,000
J| 46,900
e 20,100
2SAY A& 5,658,264 5,132,909 525,355
= 2,586,698
S 1,743,341
s 1,328,225
HEEX HRFA 11,310 11,310 0
201 €24l 2,310 2,310 0
01 At 22l 2,310 2,310 0
1)=&l 2,310
2)HAFM ALEZ O A Y|
7,000& *3H %1102 2,310
202 044l 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
1)= L od i 9,000
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AEEEEIEEEIENEL
50,000 *3H 602 9,000
Helold 2N 96,452 101,502 A5,050
201 24l 11,700 12,150 A 450
01 At 2t 2l 2,700 2,700 0
neg=g 2,700
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NOE0E DA Az2dst WsH X
2,000,000& 2,000
NEIISHE0E A2 MMl X
2,376,000 2,376
DEYORI0IE DAY 4H2HE N
2,376,000 2,376
11T MISXAISE EX 18,000 0 18,000
NEGAH0IE |SX24H K& 18,000,000 18,000
EESsSAMHA 1,927,363 1,821,288 106,075
= 963,359
< 482,002
[ia 482,002
307 glz2tol & 1,927,363 1,821,288 106,075
= 963,359
< 482,002
s 482,002
11 ALS S XALEE = 1,927,363 0 1,927,363
N=3EYHAAME K& 1,843,851,000& 1,843,851
= 921,925
< 460,963
[ia 460,963
NDAIZTAZEAIE EEWA X3 82,868,000 82,868
2 41,434
< 20,717
s 20,717
NEIES BESALE BKUA = K&
644,000 644
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& EFAY X (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
R0t E2 A& 1,415,112 1,432,252 A17,140
= 919,822
= 247,645
s 247,645
307 glz2tol & 1,415,112 1,432,252 A17,140
= 919,822
= 247,645
s 247,645
11T MISXASEEX 1,415,112 0 1,415,112
102K Es8 1,290,496, 000& 1,290,496
= 838,822
= 225,837
s 225,837
NE3H4N BS2 124,616,000& 124,616
= 81,000
< 21,808
e 21,808
ItELgs2 N 845,016 906,536 A 61,520
= 549,260
= 147,878
s 147,878
301 et d = 845,016 906,536 A61,520
= 549,260
< 147,878
s 147,878
01 MI2EZ X +06l= 845,016 906,536 261,520
Nitzgssg XY 845,016,000 845,016
= 549,260
< 147,878
s 147,878
OEold JIs22Ag K& 265,810 166,387 99,423
401 AIEHI L 2 CHYI 201,260 70,987 130,273
01 A& HI 201,260 60,000 141,260
N=SEAANHE0IE o1& S
201,260,000& 14 201,260
402 RIZ2FXt20l ™ 64,550 68,400 A 3,850
01 It 2 AL B X 64,550 68,400 A 3,850
NOHE0IE S&HA 2Hl X
20,000, 000& 20,000
DO 0ol& CCTV &XIdl X 36,000,000& 36,000
NOEo0ld =0l Axlbl K& 8,550,000 8,550
Ol oI XI& 118,900 100,222 18,678
= 59,450
< 29,725
e 29,725
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307 glz2tol & 118,900 100,222 18,678
= 59,450
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s 29,725
11 AISISAAISEE = 118,900 0 118,900
NOHE0lE X2 16,200,000 16,200
= 8,100
< 4,050
s 4,050
NWAIZSR 8ZHsdl 79,812,000 79,812
= 39,906
< 19,953
e 19,953
NsHEAWEAAH0IE XN 22,088,000& 22,088
= 11,044
< 5,522
i 5,522
1O20lE wiiw4l X 800,000& 800
= 400
< 200
[ 200
Moy JIsE2(Ex) 129,190 32,000 97,190
= 64,595
= 32,298
s 32,297
402 RI2EX=201 A 129,190 30,000 99,190
= 64,595
< 32,298
i 32,297
01 It 2 AL E X 129,190 30,000 99,190
NHE0E JIsEZ HES 30,000,000 30,000
= 15,000
= 7,500
[ia 7,500
NUHEI0IE JIsEd = 99,190,000& 99,190
= 49,595
< 24,798
= 24,797
22 2ULHEH 29 2,908 3,200 A 292
= 1,454
S 27
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= 1,454
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01 A3l EE E 56l 3 2,908 3,200 A 292
1) 22 2UHEH 2 XA 2,908,000 2,908
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NAESAR S8 X 25,560,000 25,560
< 17,892
i 7,668
NAIZots tetxszd X 5,000,000 5,000
< 2,500
i 2,500
NAIE0ts MEags K& 14,760,000 14,760
< 7,380
[ia 7,380
NAIE0tE MEE X 16,800, 000& 16,800
< 8,400
e 8,400
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1) Bt =] 4,360
2)Helole 2Hogol 5&% M=
20,000& »15H 300
2)ERO=SAZ2(ME0IE) 20,000 x203H 4,060
negsg 980
2)0lS =X MRS BHL
70,0003 +x7H +23] 980
12 gt 2,310
2)0ts=X Z2FZ A
7,000 38 x1102] 2,310
202 (44l 7,500 7,500 0
01 = LH o4 1l 7,500 7,500 0
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
301 L2 A= 39,600 36,595 3,005
- 27,720
< 5,940
s 5,940
01 Al EE E 563 39,600 36,595 3,005
Nggots ds+9 X 39,600,000 39,600
2 27,720
< 5,940
= 5,940
OtsZERIAAE XA 35,354 29,040 6,314
= 24,748
= 5,303
i 5,303
301 L2 A Z 35,354 29,040 6,314
= 24,748
< 5,303
[ia 5,303
01 Al EE X =06l = 35,354 29,040 6,314
NotSLEXHH X 35,354,000& 35,354
= 24,748
< 5,303
i 5,303
NEotsdlEe 238 K& 381,482 339,676 41,806
= 150,901
< 66,828
s 163,753
307 glz2tol & 366,482 339,676 26,806
= 150,901
< 66,828
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11T AISI S XA E = 366,482 0 366,482
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e 83,866
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e 19,710
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SN D=
HHM: B IF.0048 N
el AN L HANS HE=T 5 ool &)
(o
SN ED B (3H) - MEAY - BAS %@i HD=2
| = 689
OlsH4dotd XSl 29 7,200 7,200 0
= 3.600
= 3,600
307 2iz2to| & 7,200 7,200 0
= 3.600
= 3,600
02 QIZIA AAIE E X 7,200 7,200 0
1NOSHAEAMXGAD 2 7,200,000& 7,200
2 3,600
= 3,600
s & A= XK (KA 36,300 110,550 ANT4,250
201 et 6,300 2,200 4,100
01 AP 2t 2] H| 6,300 2,200 4,100
1) B2 H| 1,500
2)HAIZEZCHIIE HZ 50,000 «100H 500
)0 A XS A WEHA &2 10,0002 1008 1,000
N2g4d 4,800
2)8 00 32 Hegwns LA
600,000 43| 2,400
DMEAS MBI DT BMEY
600,000%43] 2,400
307 2iztol A 30,000 108, 350 A 78,350
11T AISIEXAIEEX 30,000 0 30,000
N2 D|E A 20,000, 000& 20,000
NHAHIOIL S 10,000,000 10,000
Heazgd=aA KR 12,000 12,000 0
& 6,000
= 6,000
307 2Iz2t0| & 12,000 12,000 0
= 6,000
= 6,000
02 QIZFE AAIE E X 12,000 12,000 0
1NHAEZASEHA XA 12,000,000& 12,000
& 6,000
= 6,000
HESHAN sSENME TIHSIAY =X 3,000 3,000 0
& 1,500
= 1,500
307 2I2t0| & 3,000 3,000 0
& 1,500
= 1,500
02 Q2B AMAIE E =X 3,000 3,000 0
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Sel AUNFAY L HANS GA=X FA CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NHAEHMAA sS&2 BHUHSIAY =X
2 3,000, 000& 3,000
< 1,500
e 1,500
CHE2IE X2 (KA 61,700 69,700 A 8,000
201 LBH2d| 1,700 1,210 490
01 At 2t 2l 1,700 1,210 490
DA R=lER =] 720
)UEHE Nd MRE8S F¢
0,000& 128 720
negs4 980
QIHRSINENAE S oY
70,0003 7 +23] 980
301 gt L= 22,000 52,290 A 30,290
01 A3l EE H 56l = 22,000 52,290 A 30,290
NGEs Iy ols XA 5,000,000 5,000
NolI=0d =28Hs K& 1,000,000& =10 10,000
NUSIE Y2uE NSA WS, =¢
1,000,000& »7H 7,000
307 21201 A 28,000 16,200 11,800
11 AMISIAIEE S 28,000 0 28,000
NOUE3Is & ULS0| 25,000,000& 25,000
NRel230la, Xt n| 3,000,000 3,000
405 TtHabH S| 10,000 0 10,000
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